Fitting instructions

Make:
Cee’d/ED (ED) 5D; 2006->

Kia

4622

Type:



http://magfarkop.ru

[=]
@
X
Tel
N
-
X
(=]
=
=

© 462270/18-09-2009/1

© 462270/18-09-2009/14


http://magfarkop.ru

¢/600¢-60-81/0L2cc9¥ @

ZIN (x2)

0L (x2)

ZLN (xp)

0L (x01)

OLIN (x9)

(8'8) SZXZLIN (X})

(8'8) 0/XZLIN (X1)

6

€1/600¢-60-81/0L2c9V ©

0LXCLIN
SIXCLIN

A"

9l



http://magfarkop.ru

//\"’

RC TN

Couplingsclass: A50-X

Approved

e11 00-6482

D-Value : 8,6 kN

o lmel 1]

: 6.: E_?i@ n MODIFICATION% Er[][‘],/

© 462270/18-09-2009/3

45 Nm

M10x1,25 70 Nm

14

15

@
S S D
_—i‘\l?é

= —— @
=

© 462270/18-09-2009/12


http://magfarkop.ru

¥/600¢-60-81/0L229¥ @

w000

L w0

*"UOIEIIUNWWOISIW
SIY1 Jo }nsai e se buisiie sianew Aue 1o} Ajjiqisuodsal jdaooe
j0u op"A°q 3jnyL "uonajdwod o} Joud ssueidesse s JawolIsnI ay}
jo Jeauibua uonejjersul ey} Aq paureiqo adq LSNIN UONBWIOUO0D

- 1adwing ay} jo Bupno ayy [rejua ssado.d uonejeisul Sy} pInoys .

‘310N

‘usbuuque OZAIS Jewsb abejuy syosupield
‘uageb ANLL Jep 18po Jajpueyyor Jy| uuey Jagniaiy Junysny
‘usp
-1am Jauydalabyoeu pap\-q wap sne s|ejusuaqabab jsejebueyuy abisseinz
-1syogy alp gnw sayoimebbnaziyeq sep usbuniepuy log ‘uswyaulus nz
uabepsjun Bnaziye uap isi iselebueyuy sussse|abnz Bnaziye4 sep iny alq .

:ISIIMNH

I 1/600¢-60-81/0Lcc9¥ @

WINSZ (48}

WNO0Z siil SZ 1X0LN

WN St OLIN

=R 22
BEREIE

€l

By S
wwg =
; Jegmo} aqn | \
e

<-1d4600¢ SI°POIN

A

cl

a(]

ST

B

4

OLN (x1)

OLIN (xg)
O (X1)

GEXOLIN (X1)

0EXGg X0 LN
(x1)



http://magfarkop.ru

© 462270/18-09-2009/5

(2)

(1x)
M10x1,25x30

M10x1,25x30

(2x) M10

(1x) M10x35

(1x) M10

(3x) M10

(1x) M10

© 462270/18-09-2009/10


http://magfarkop.ru

9/600¢-60-81/0L2c9¥ @

-~
&

//J)‘A\\
i

Io OJ -' 'ml\k

0L (x2)

0EXSZ X0 LIN
(x2)



http://magfarkop.ru

© 462270/18-09-2009/7

Models 2006-FL2009 Models 2009FL->

Middle bumper
-

— P T ¥ 1 Cut out
1™ Middle bumpe (e =/
T | X
3 g (]
(7 A A /&)

© 462270/18-09-2009/8



http://magfarkop.ru


 
 
    
   HistoryItem_V1
   SimpleBooklet
        
     Create a new document
     Order: single binding (saddle stitch)
     Sheet size: scale to A4 (297 x 210 mm)
     Front and back: backs interleaved, upside-down
     Align: centre each page in its half of sheet
      

        
     0
     CentrePages
     InlineInvert
     10.0000
     20.0000
     0
     Corners
     0.3000
     None
     1
     0.0000
     1
     1
     0
            
       D:20090917093009
       1190.5512
       a3
       Blank
       841.8898
          

     Wide
     16
     Single
     445
     293
    
     0
     A4Wide
            
       CurrentAVDoc
          

     1
      

        
     QITE_QuiteImposing2
     Quite Imposing 2 2.0
     Quite Imposing 2
     1
      

   1
  

 HistoryList_V1
 qi2base





